


5 см

2,5 см

S = (2,5 · 5) : 2 = 12,5 : 2 = 6,25 см2

2,5 см

5 см

2,5 см

5 см

2,5 см

5 см





синим
жёлтым
зелёным

сиреневым
голубым

оранжевым
красным

да

нет



*

К л а с с н а я    р а б о т а.

Повторение. 
*

К л а с с н а я    р а б о т а.

Повторение. 



Действия с 
десятичными 

дробями



2,35
4

22,5
6

+ ?
0
41,

9
42

Сложение и 
вычитание



Выполните действие: 
1) 87,48 + 6,196;
2) 560,3 – 98,625. 

Ответы: 
1) 93,676; 
2) 461,675  
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Выполните действие: 
1) 0,08 ∙ 0,09; 2) 0,034 ∙ 0,5;
3) 6,7 ∙ 0,0001; 4) 0,1 ∙ 72,8;
5) 5,8 ∙ 12,7; 6) 3,05 ∙ 6,1;
7) 2,74 ∙ 4,005;
8) 62,95 ∙ 0,037.

Ответы: 
1) 0,0072; 2) 0,017;  
3) 0,00067; 4) 7,28;
5) 73,66; 6) 18,605;
7) 10,9737; 8) 2,32915.



Выполните действие: 
1) 8 ∙ 0,05;                      2) 0,012 ∙ 6;
3) 57 ∙ 0,0062; 4) 0,28 ∙ 30;
5) 0,01 ∙ 94; 6) 37 ∙ 0,001;
7) 215 ∙ 0,0026;
8) 620 ∙ 0,00005.

Ответы: 
1) 0,4; 2) 0,072;  
3) 0,3534; 4) 8,4;
5) 0,94; 6) 0,037;
7) 0,559; 8) 0,031.
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Выполните деление: 
1) 486,2 : 65; 2) 381 : 60; 3) 50,75 : 14; 4) 3 : 8.

Ответы: 
1) 7,48; 2) 6,35;  
3) 3,625; 4) 0,375.

Выполните действие: 
5) 3,725 : 1,49;  6) 0,16043 : 0,526.

Ответы: 
5) 2,5;6) 0,305.



   Учебник:    
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